EARAROBEEIERT — 2 N— IBISH —F

20194E3A318 (B) 2EIBR#H4H

Ml s>%4mt 5005F (E&)

HEE] EE

‘ [Riz] & ‘ [REBE] — | & (%) 2000M 4=

[A~&£] 1 7% :7,500,000  ~ 23 :3,000,000 37 :1,900,000

/473 11,100,000 5 7& :750,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N o mEFhE :06. ~7-6~ . . LEBX (EXR)
i 5| Ry~ 5 gte 2(0_6)7 9-7-6-4 |37.0] 9.9 | 5 (430) mex
Liv—N—K B:74-LHT7> =E R
A 4 5 | BERRRA 2:07.3 2-2-2-2 [38.3| 91.5 | 1 484 | FRBE (FR)
2|7|11| 777> b 57.0 3 1/2) o) | AT
R:TwTNEry b B ILART I — J—HrIr—L
o> 4 5 | HHEEH 2:07.4 11-11-10-6 | 37.4 | 90.6 | 8 492 | EHET (BR)
31| T—-¥—%%x 57.0 (7€) () | UL
Z:va7x B:F4T714HhIE J=HrTrp—L
TS S NA s o4 | AERER— 2:07.5 6-5-3-3 |38.1| 89.7 | 2 506 | SEHE (RR)
4] 8| >¥T7x1\% [B] 57.0 s Lo |EFRAR-LF (T2 W)
T4 —=TA2IN7 b B:IXINXHY J =Y Ty —L
S 4 5 | FEEBZ 2:07.8 7-7-6-5 |38.0| 87.0 | 6 490 | MAE (W)
5812 AHTLT 57.0 (1 3/4) (-2) BI#HE
LN—=V754 B:A—2 v I3IFR EHRKS
i o4 | BEPR 2:08.2 1-1-1-1 | 39.4| 84.1 | 3 468 | AER— (BR)
617110/ 7v3t12a [B] 57.0 @ 1/2) ) |IZTIML=2T @)
RN—VIF4 B IUTE1— =t e
Gy 44 | EHEE 2:08.3  |11-11-12-10( 38.0 | 82.5 | 11 | 490 |BRE (FF)
715|7 ¥¢56.0 (3/4) o) STOME—ER
A4 avyLvy B:FrLTIT5 [EA=bie]
— . 4 | FHEEA :08. -9-10- . . HFHAET (FEX)
N > DEEER R A4S Sred || LRl flesd] Bl | (5%0) ) Lot Ty fe . 2
LTANNGTFY— B:v—dL 2114535
ST A 4 5 | EHEHE 2:08.9 5-6-6-10 |38.9| 77.9 | 13 472 | BEEW (ER)
ol 3|2 ST h (B] 57.0 (2 1/2) (-2) Z“lfﬁ
R:xATATN— b BARTTA FE B
S # o4 | M. FL-0O 2:09.7 9-9-9-6 |39.8| 72.0 | 4 500 | ARA— (RR)
10 6 W) o# > 57.0 (5) (+4) (%) G1L—>>7
R:A—-Kp+A7 B:7114KLAY—> (B) #HAEIA-FKL—Ya>AE77
: 4 4 | BAUGAF 2:10.2 13-13-13-13| 39.7 | 67.8 | 10 | 446 | ==L (RR)
1100 4| 7—Fra7 [B] 55.0 3) g | SEER
LN=RZRIN> B2y IR 1Iba— HE77—L4
c e K7 Y 4 4 | %EE 2:10.4 3-3-3-8 |40.8| 67.6 | 12 | 53 |AHER— (EX)
12 0| 7 FX/XET 57.0 (1 174) (o) | TEEA
R:YLKYIYRIZR BTy RELL Ly FKk B
S . > 6 | @K— 2:12.6 3-3-5-9 |42.8| 54.4 | 9 512 | EOEE (RR)
13/8|13| Fv7«><%—7 [B] A (514 o | xEE—
LG4 7 h7—IEY B:Ly RKoO0-2a [ia=kie]
@ 71 L
) 50.6-37.9
NO>24 L | 12.8-11.4-12.0-14.1-12.9-12.9-12.7-12.7-12.1-13.1
® I —F—@EBIERL
13=7r= 10,11(9,13)-3,8,12,2(6,5) (1,7)4
2al=5F= 10,11(9,13)8,3(12,5) (2,6) (1,7)4
30—4— 10,11-(9,8)13(3,12,5)6(2,1)7,4
43—+ — (x10,11)-8,5,12(1,6)9,13(3,2,7)-4
[ RN
B OB 5 1,350 714K 5-11 860M e & 4-7 1,130 &R 1-5-11 12,000M
8 B 5 330F =5 2,460 B & 5-11 2,620M 3B 5-11-1 71,200/
1 160M 1-11 1,030M B H 5-11 5,670M
1 440M

ABICOVWTRDTEEERROODE. TR LIV,




